

A Remark on Polynomial Norms and Their Coefficients

SUNG GUEN KIM*

Topology and Geometry Research Center, Kyungpook National University, Taegu, Korea (702-701)

(Received 20 December 1998; Revised 29 January 1999)

This paper presents new lower bounds for the norms of 2-homogeneous real-valued polynomials on l_p spaces for $0 < p \leq \infty$ which are sharper than those recently given by the author.

Keywords: Coefficients; l_p spaces; Polynomial norms

1991 Mathematics Subject Classification: 46B20; 46E15

This note is concerned with the general problem of the relation between the norm of a polynomial and its coefficients. This type of problem has been studied in many contexts [1–6, 8–11] over the years, because of both its relevance to non-trivial problems in mathematics and because of its our inherent interest. In this note we focus our attention on lower bounds for the norms of 2-homogeneous real-valued polynomials on l_p spaces. Recently the author [9] gave lower bounds for the norms of 2-homogeneous real-valued polynomials on l_p spaces for $0 < p \leq \infty$. We here improve them.

Let E be a real Banach space with the unit sphere S_E and $m \geq 2$, a natural number. $\mathcal{P}^m(E)$ denotes the Banach space of m -homogeneous real-valued polynomials on E , endowed with the polynomial norm

* E-mail: sgkim@gauss.kyungpook.ac.kr.

$\|P\| = \sup_{\|x\| \leq 1} |P(x)|$. See Dineen [7] for more details about the theory of polynomials on Banach spaces.

LEMMA 1 *Let $\emptyset \neq S \subset S' \subset \mathbf{N}$ and $x, a_{ij} \in \mathbf{R}$ for $i, j \in S'$ with $i < j$. Then*

$$\max_{\epsilon_k = \pm 1, k \in S} \left| x + \sum_{i, j \in S, i < j} a_{ij} \epsilon_i \epsilon_j \right| \leq \max_{\epsilon_k = \pm 1, k \in S'} \left| x + \sum_{i, j \in S', i < j} a_{ij} \epsilon_i \epsilon_j \right|.$$

Proof Let $m \geq 2$ be a positive integer. It is enough to show that

$$\max_{\epsilon_k = \pm 1, 1 \leq k \leq m} \left| x + \sum_{1 \leq i < j \leq m} a_{ij} \epsilon_i \epsilon_j \right| \leq \max_{\epsilon_k = \pm 1, 1 \leq k \leq m+1} \left| x + \sum_{1 \leq i < j \leq m+1} a_{ij} \epsilon_i \epsilon_j \right|.$$

Let

$$M = \max_{\epsilon_k = \pm 1, 1 \leq k \leq m} \left| x + \sum_{1 \leq i < j \leq m} a_{ij} \epsilon_i \epsilon_j \right| = \left| x + \sum_{1 \leq i < j \leq m} a_{ij} \epsilon'_i \epsilon'_j \right|$$

for some sign choices $\epsilon'_1, \dots, \epsilon'_m$. Let

$$\epsilon'_{m+1} = \text{sign} \left(\sum_{1 \leq i \leq m} a_{im+1} \epsilon'_i \right)$$

if $x + \sum_{1 \leq i < j \leq m} a_{ij} \epsilon'_i \epsilon'_j \geq 0$ and

$$\epsilon'_{m+1} = -\text{sign} \left(\sum_{1 \leq i \leq m} a_{im+1} \epsilon'_i \right)$$

otherwise. Then we have

$$\begin{aligned} \max_{\epsilon_k = \pm 1, 1 \leq k \leq m+1} \left| x + \sum_{1 \leq i < j \leq m+1} a_{ij} \epsilon_i \epsilon_j \right| &\geq \left| x + \sum_{1 \leq i < j \leq m+1} a_{ij} \epsilon'_i \epsilon'_j \right| \\ &= \left| x + \sum_{1 \leq i < j \leq m} a_{ij} \epsilon'_i \epsilon'_j \right| + \left| \sum_{1 \leq i \leq m} a_{im+1} \epsilon'_i \right| \geq M. \end{aligned}$$

LEMMA 2 *Let $m \geq 2$ be a positive integer. Let x, a_{ij} ($1 \leq i < j \leq m$) $\in \mathbf{R}$. Then*

$$\max_{\epsilon_k = \pm 1, 1 \leq k \leq m} \left| x + \sum_{1 \leq i < j \leq m} a_{ij} \epsilon_i \epsilon_j \right| \geq |x| + \max_{1 \leq i < j \leq m} |a_{ij}|.$$

The equality holds if and only if the following conditions are satisfied. Without loss of generality, assume that $\max_{1 \leq i < j \leq m} |a_{ij}| = |a_{12}|$.

- (a) $a_{ij} = 0$ for $3 \leq i < j \leq m$.
- (b) $xa_{12}a_{1i}a_{2i} \leq 0$ and $|a_{1i}| = |a_{2i}|$ for each $3 \leq i \leq m$.
- (c) $\sum_{3 \leq i \leq m} |a_{1i}| \leq \min\{|x|, |a_{12}|\}$.

Proof Use induction on m . If $m = 2$, then the lemma is true because $\max\{|x + a_{12}|, |x - a_{12}|\} = |x| + |a_{12}|$. Suppose that the lemma is true for $2, 3, \dots, m - 1$. Without loss of generality, we may assume that $\max_{1 \leq i < j \leq m} |a_{ij}| = |a_{34}|$. Put

$$M = \max_{\epsilon_k = \pm 1, 1 \leq k \leq m} \left| x + \sum_{1 \leq i < j \leq m} a_{ij} \epsilon_i \epsilon_j \right|.$$

Substituting $\epsilon_1 = \pm 1$, we get

$$\begin{aligned} \max_{\epsilon_k = \pm 1, 2 \leq k \leq m} \left| \left(x + \epsilon_2 \left(\sum_{3 \leq j \leq m} a_{2j} \epsilon_j \right) + \sum_{3 \leq i < j \leq m} a_{ij} \epsilon_i \epsilon_j \right) \right. \\ \left. + \left(a_{12} \epsilon_2 + \sum_{3 \leq j \leq m} a_{1j} \epsilon_j \right) \right| \leq M \end{aligned} \quad (1)$$

and

$$\begin{aligned} \max_{\epsilon_k = \pm 1, 2 \leq k \leq m} \left| \left(x + \epsilon_2 \left(\sum_{3 \leq j \leq m} a_{2j} \epsilon_j \right) + \sum_{3 \leq i < j \leq m} a_{ij} \epsilon_i \epsilon_j \right) \right. \\ \left. - \left(a_{12} \epsilon_2 + \sum_{3 \leq j \leq m} a_{1j} \epsilon_j \right) \right| \leq M. \end{aligned} \quad (2)$$

By adding (1) and (2) and the triangle inequality, we get

$$\max_{\epsilon_k = \pm 1, 2 \leq k \leq m} \left| x + \epsilon_2 \left(\sum_{3 \leq j \leq m} a_{2j} \epsilon_j \right) + \sum_{3 \leq i < j \leq m} a_{ij} \epsilon_i \epsilon_j \right| \leq M. \quad (3)$$

Again, by substituting $\epsilon_2 = \pm 1$ into (3) and adding each other and the triangle inequality, we get

$$\max_{\epsilon_k = \pm 1, 3 \leq k \leq m} \left| x + \sum_{3 \leq i < j \leq m} a_{ij} \epsilon_i \epsilon_j \right| \leq M. \quad (4)$$

By induction hypothesis and (4), we have

$$\begin{aligned} |x| + \max_{1 \leq i < j \leq m} |a_{ij}| &= |x| + |a_{34}| = |x| + \max_{3 \leq i < j \leq m} |a_{ij}| \\ &\leq \max_{\epsilon_k = \pm 1, 3 \leq k \leq m} \left| x + \sum_{3 \leq i < j \leq m} a_{ij} \epsilon_i \epsilon_j \right| \leq M. \end{aligned}$$

Suppose that conditions (a)–(c) are satisfied. From now on, we will assume that

$$\max_{1 \leq i < j \leq m} |a_{ij}| = |a_{12}|.$$

Then by (a),

$$\begin{aligned} M &= \max_{\epsilon_k = \pm 1, 3 \leq k \leq m} \left\{ |x + a_{12}| + \left| \sum_{3 \leq i \leq m} (a_{1i} + a_{2i}) \epsilon_i \right|, \right. \\ &\quad \left. |x - a_{12}| + \left| \sum_{3 \leq i \leq m} (a_{1i} - a_{2i}) \epsilon_i \right| \right\}. \quad (5) \end{aligned}$$

Without loss of generality, assume that $xa_{12} \geq 0$. Then by (b),

$$|x + a_{12}| + \left| \sum_{3 \leq i \leq m} (a_{1i} + a_{2i}) \epsilon_i \right| = |x + a_{12}| = |x| + |a_{12}|$$

for any sign choices $\epsilon_3, \dots, \epsilon_m$ and, by (b) and (c),

$$\begin{aligned} |x - a_{12}| + \left| \sum_{3 \leq i \leq m} (a_{1i} - a_{2i}) \epsilon_i \right| &\leq |x - a_{12}| + 2 \sum_{3 \leq i \leq m} |a_{1i}| \\ &\leq |x - a_{12}| + 2 \min\{|x|, |a_{12}|\} \\ &= |x| + |a_{12}| \end{aligned} \quad (6)$$

for any sign choices $\epsilon_3, \dots, \epsilon_m$. Thus $M = |x| + |a_{12}|$. Let us prove the necessary condition. First we will prove it when $m = 4$. Some computation shows that

$$\begin{aligned} &\max_{\epsilon_k = \pm 1, 1 \leq k \leq 4} \left| x + \sum_{1 \leq i < j \leq 4} a_{ij} \epsilon_i \epsilon_j \right| \\ &= \max\{|x + a_{12} \pm a_{34}| + |(a_{13} + a_{23}) \pm (a_{14} + a_{24})|, \\ &\quad |x - a_{12} \pm a_{34}| + |(a_{13} - a_{23}) \pm (a_{14} - a_{24})|\}. \end{aligned}$$

By some calculation, we get

- (a) $a_{34} = 0$.
- (b) $xa_{12}a_{1i}a_{2i} \leq 0$ and $|a_{1i}| = |a_{2i}|$ for $i = 3, 4$.
- (c) $\sum_{3 \leq i \leq 4} |a_{1i}| \leq \min\{|x|, |a_{12}|\}$.

Let $m \geq 4$. Suppose that $M = |x| + |a_{12}|$. Let $3 \leq i_0 < j_0 \leq m$ be fixed. Let σ be the permutation on $\{1, 2, \dots, m\}$ such that

$$\sigma(3) = i_0, \quad \sigma(4) = j_0, \quad \sigma(i_0) = 3, \quad \sigma(j_0) = 4.$$

Define $b_{ij} = a_{\sigma(i)\sigma(j)}$ for each $1 \leq i < j \leq m$. By Lemma 1,

$$\max_{\epsilon_k = \pm 1, 1 \leq k \leq 4} \left| x + \sum_{1 \leq i < j \leq 4} b_{ij} \epsilon_i \epsilon_j \right| \leq \max_{\epsilon_k = \pm 1, 1 \leq k \leq m} \left| x + \sum_{1 \leq i < j \leq m} b_{ij} \epsilon_i \epsilon_j \right| = M$$

and by the first claim of Lemma 2,

$$\begin{aligned} \max_{\epsilon_k = \pm 1, 1 \leq k \leq 4} \left| x + \sum_{1 \leq i < j \leq 4} b_{ij} \epsilon_i \epsilon_j \right| &\geq |x| + \max_{1 \leq i < j \leq 4} |b_{ij}| \\ &= |x| + |a_{12}| = M, \end{aligned}$$

so

$$\max_{\epsilon_k = \pm 1, 1 \leq k \leq 4} \left| x + \sum_{1 \leq i < j \leq 4} b_{ij} \epsilon_i \epsilon_j \right| = |x| + \max_{1 \leq i < j \leq 4} |b_{ij}|.$$

By the above argument for $m=4$ case, we have $0 = b_{34} = a_{i_0 j_0}$ and $x b_{12} b_{13} b_{24} = x a_{12} a_{1 i_0} a_{1 j_0} \leq 0$ and $|a_{1 i_0}| = |b_{13}| = |b_{24}| = |a_{1 j_0}|$, showing (a) and (b). Suppose that (c) is not true. By (a), (b), (5) and the triangle inequality,

$$\begin{aligned} M &\geq \max_{\epsilon_k = \pm 1, 3 \leq k \leq m} |x - a_{12}| + 2 \left| \sum_{3 \leq i \leq m} a_{1i} \epsilon_i \right| \\ &= |x - a_{12}| + 2 \sum_{3 \leq i \leq m} |a_{1i}| > |x - a_{12}| + 2 \min\{|x|, |a_{12}|\} \\ &= |x| + |a_{12}| = M, \end{aligned}$$

a contradiction. Therefore we complete the proof.

Remark Lemma in [9] can be improved as follows. Let E be a normed space over a field (\mathbf{C} or \mathbf{R}) and $m \geq 2$, a natural number. Let x, a_{ij} ($1 \leq i < j \leq m$) $\in E$. Then

$$\sum_{\epsilon_k = \pm 1, 1 \leq k \leq m} \left\| x + \sum_{1 \leq i < j \leq m} \epsilon_i \epsilon_j a_{ij} \right\| \geq 2^m \max_{1 \leq i < j \leq m} \{\|x\|, \|a_{ij}\|\}.$$

Using Lemma 2, we obtain the main result of this paper.

THEOREM 3 Let $P(x) = \sum_{i < j} b_{ij} x_i x_j \in \mathcal{P}({}^2I_p)$, $b_{ij} \in \mathbf{R}$, $0 < p \leq \infty$. Then we have

$$\|P\| \geq \sup_{m \in \mathbf{N}, (w_1, w_2, \dots, w_m, 0, \dots) \in S_p} \left\{ \left| \sum_{1 \leq i \leq m} b_{ii} w_i^2 \right| + \max_{1 \leq i < j \leq m} |b_{ij} w_i w_j| \right\}.$$

Proof It follows from Lemma 2 because

$$\begin{aligned} \|P\| &\geq |P(\epsilon_1 w_1, \dots, \epsilon_m w_m, 0, 0, \dots)| \\ &= \left| \sum_{1 \leq i \leq m} b_{ii} w_i^2 + \sum_{1 \leq i < j \leq m} b_{ij} w_i w_j \epsilon_i \epsilon_j \right| \end{aligned}$$

for any $(w_1, w_2, \dots, w_m, 0, \dots) \in S_{l_p}$, $x = \sum_{1 \leq i \leq m} b_{ii} w_i^2$ and $a_{ij} = b_{ij} \epsilon_i \epsilon_j$ for any sign choices $\epsilon_1, \dots, \epsilon_m$.

COROLLARY 4 (a) Let $P(x) = \sum_{i \leq j} b_{ij} x_i x_j \in \mathcal{P}^2(l_p)$, $b_{ij} \in \mathbf{R}$, $0 < p < \infty$. Then we have

$$\|P\| \geq \sup_{m \in \mathbf{N}} \left\{ 1/m^{2/p} \left(\left| \sum_{1 \leq i \leq m} b_{ii} \right| + \max_{1 \leq i < j \leq m} |b_{ij}| \right) \right\}.$$

(b) Let $P(x) = \sum_{i \leq j} b_{ij} x_i x_j \in \mathcal{P}^2(l_\infty)$, $b_{ij} \in \mathbf{R}$. Then we have

$$\|P\| \geq \sup_{m \in \mathbf{N}} \left\{ \left| \sum_{1 \leq i \leq m} b_{ii} \right| + \max_{1 \leq i < j \leq m} |b_{ij}| \right\}.$$

Proof (a) follows by taking $w_k = 1/m^{1/p}$ for $k = 1, 2, \dots, m$.

(b) follows by taking $w_k = 1$ for $k = 1, 2, \dots, m$.

PROPOSITION 5 (a) Let $P(x) = \sum_{i_1, \dots, i_n} a_{i_1 \dots i_n} x_{i_1} \cdots x_{i_n} \in \mathcal{P}^n(l_2)$, $a_{i_1 \dots i_n} \in \mathbf{K}$. Then we have

$$\|P\| \leq \left(\sum_{i_1, \dots, i_n} |a_{i_1 \dots i_n}|^2 \right)^{1/2}.$$

(b) If

$$\sum_{i_1, \dots, i_n} |a_{i_1 \dots i_n}|^2 < \infty,$$

then

$$P(x) = \sum_{i_1, \dots, i_n} a_{i_1 \dots i_n} x_{i_1} \cdots x_{i_n} \in \mathcal{P}^n(l_2).$$

Proof Use induction on n .

Case $n=2$. For $x = (x_k) \in S_{l_2}$,

$$\begin{aligned}
 \left| \sum_{i,j} a_{ij} x_i x_j \right| &\leq \sum_k \left| \sum_j a_{kj} x_k x_j \right| = \sum_k |x_k| \left| \sum_j a_{kj} x_j \right| \\
 &\leq \sum_k |x_k| \left(\sum_j |a_{kj}|^2 \right)^{1/2} \left(\sum_j |x_j|^2 \right)^{1/2} \\
 &\quad \text{(by the Hölder inequality)} \\
 &\leq \sum_k |x_k|^2 \left(\sum_{k,j} |a_{kj}|^2 \right)^{1/2} \quad \text{(by the Hölder inequality)} \\
 &= \left(\sum_{k,j} |a_{kj}|^2 \right)^{1/2}.
 \end{aligned}$$

Suppose that for $n \leq k$, the proposition is true. For $x = (x_k) \in S_{l_2}$,

$$\begin{aligned}
 &\left| \sum_{i_1, \dots, i_{k+1}} a_{i_1 \dots i_{k+1}} x_{i_1} \cdots x_{i_{k+1}} \right| \\
 &\leq \sum_{i_{k+1}} |x_{i_{k+1}}| \left| \sum_{i_1, \dots, i_k} a_{i_1 \dots i_k} x_{i_1} \cdots x_{i_k} \right| \\
 &\leq \sum_{i_{k+1}} |x_{i_{k+1}}| \left(\sum_{i_1, \dots, i_k} |a_{i_1 \dots i_k}|^2 \right)^{1/2} \quad \text{(by the induction hypothesis)} \\
 &\leq \left(\sum_{i_{k+1}} |x_{i_{k+1}}|^2 \right)^{1/2} \left(\sum_{i_1, \dots, i_{k+1}} |a_{i_1 \dots i_{k+1}}|^2 \right)^{1/2} \quad \text{(by the Hölder inequality)} \\
 &= \left(\sum_{i_1, \dots, i_{k+1}} |a_{i_1 \dots i_{k+1}}|^2 \right)^{1/2}.
 \end{aligned}$$

References

- [1] R.M. Aron, M. Lacruz, R.A. Ryan and A.M. Tonge, The generalized Rademacher functions. *Note di Mate. (Iecce)* **12** (1992), 15–25.
- [2] R.M. Aron and I. Zaluendo, Polynomials norms and coefficients, *Extracta Math.* (1992), 13–20.

- [3] B. Beauzamy, Jensen's inequality for polynomials with concentrations at low degrees, *Numer. Math.* **49** (1986), 221–225.
- [4] B. Beauzamy, E. Bombieri, P. Enflo and H. Montgomery, Products of polynomials in many variables, *J. Number Th.* **36** (1990), 219–245.
- [5] B. Beauzamy and P. Enflo, Estimations de produits de polynomes, *J. Number Th.* **21** (1985), 390–420.
- [6] B. Beauzamy, J.L. Frot and C. Millour, Representing a many-variable polynomial on a hypercube, preprint.
- [7] S. Dineen, Complex analysis in locally convex spaces, *Mathematics Studies*, Vol. 57, North Holland (1981).
- [8] P. Enflo, On the invariant subspace problem in Banach spaces, *Acta Math.* **158** (1987), 213–313.
- [9] S.G. Kim, An inequality concerning polynomial norms and their coefficients, *Indian J. Pure Appl. Math.* **29** (1998), 277–283.
- [10] A.K. Rigler, S.Y. Trimble and R.S. Varga, Sharp lower bounds for a generalized Jensen inequality, *Rocky Mtn. J. Math.* **19** (1989), 353–373.
- [11] I. Zalduendo, An estimate for multilinear forms on l^p spaces, *Pro. R. Irish Acad.* **93A** (1993), 137–142.